
EX ERCISE 12 2 

he tind he clistance betiueen the tollooivg pairs of poind ONo 1 

Cu)-3,72) and (4,-) ty (3,35) and (4,31) 
riy (-1,3-4) ad (1,-34) (v) ,-,3) ard (-2,,3) 

So Let d bu the distance betucen 21ven panlE (2,35)
and4,3,) USin ditavce fomula

c (3-3) (-5) 4 ntl 204x5 -9]s 
t) Let d e he els tance. betieen (-37,2) ond (a,',) 
d la13+ {4-7)°+(-1-2- 25+14 43 
)Let d b he clistance betieen he ven pinl (1,34) and 
e41+ (-3-3)+(4+4) At36 64 Jl04 4x 
Let d be he distante bttuwen -he paint (e-13) amd ?,)) 

c -2-2+(-1+1)+ (3- Jl6to+0- JIG 4 ONo2 hoUNhat -te pon (-235) (1.2,3) and (7,0,-)are coine
So iven ponk aic P(-a,35) &(i2,3) and R 1-) CNen 

IPo +), (R-3{-s) -J1t1t414 9 - tto-2)t-1-3)2 J3614 16 56 4x14- 2J14 
RP) ")t{3-0)+(s+) S141t34 Jr26 x41 NO P0 +0R -J14+2J4 3J4 -RP 

P, , R afe collmear 

ONo3 Yenathe -ollouing
(o,7-1a) (,6,-) and(4,9-4 afe Vertices o an isasceles bande (01 (7, 1) ,6,6) avd 4,90) are yerhices of ght angled tuangle.-1,3) (-3,5) (4,-78) and (2,-3,4) ae verlices of a brallelsarom.Sol y Let A®7,-»); B(L6,-) and t(4,-) bt gen on 

AB N(2+(6-1) tl-64u) -1+1+I6 I8 9u32 
BC 4-1:(0-tY'+(t4t) 911Ji8 9 3 

Nod A B- BC 

A 



Let Alo,7,10), B-1,9,l-4,,) jvren Ponli
AB -) (6-7) r(6-10) 

Sl 
Ji8 2x9 BJ 

BC 

o4)*+ (7-9°+(1o JI64 t16 -36 No AB BC 
A ABC S SOScelec 

Also AB+ BC - 18 t18 3C 
AB+BC A 

A a AB. Is Sia anded at B. 
Let AL) ; B(1-3,5), t(4,-7,3) D(;*3,4) b 1tn pam 

AAH)* +(-a-2)+5-12. 4+16 t16 =36 6 
G 4-)+ (-712)+(85 9 +25+9 43 

i) 

CD 
A -4)r(3t7T(4-8) 4+16t16 36 6 

-1-2)+(13)*l4)° - 9425t9 43 
Ac 4,(7-2)+(B- - 2+81 +49 155 

DA 

BD a-1)+(-3t2)"+l4- 1+1*1 J3 
AB CD BC-DA and ACBD 
Opposte ider aYe. egal and diagonal are not ea 
2. ABCD 1s a paallelogram. 

No4 hind he eaaltTon o the set o poin Whch afe 
eqds tance f he Poina (3) and B,39 

Let Px,J) eqidisanee ism he pin Al3 qnd B3,3H)

Hem PYn COmdon 

Sol 

PA PB o PA-PB

-)-) . (Y-3+ (}-%(z+1) 

X-82 o OY 2Z =6 

alhch 1s 



QNSind the eqpalon oSet of point P, te Sum onhie 

Kem A(4,0,0) and B(-4,0,0) is eual to lo 

Cven pomt. ae A(4,0,0) and B(4,99 
dutances

Let he Corclinaleg o oinl P be (x,1,2) 
tEom qVen tamd1ion

PA +PB lo 

4)(-o)', (z-o 4(14)'l1)+l}
lo 

0 +11Z+8xt6
Sqnasn belth sides 

+z8xil6 l004++zh8tl6 -20Jx**7+z+8« tH6 

4xt 5 +1z?48»41b 
Again Craci, e et 

625t 200 X - 25**z* 8x tl6) 

9-25) 252 -235 

9at25)4 25 2s 
alhieh Is qued. ea lion 
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